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B[ Exercise No (1) page Subject: final accounts | B
%? 1- Translate the following into English: ‘?
é":? English (=S "‘:?
FRONPN
FEWECIIIN ..
Ko gl 2 a0
W | Trial Balance N
N [ Liabilities K
é’? 2- Complete the foIIowirTg : | g,?'
G @ mmmmmmmmmmmmmomoooooe is a final account showing the gross &
B profit or gross loss of a business. L2}
M b- oo is a final account showing the net profit §
"f or the net loss of a business. "f
X C- mmmmmmmmmmmmm e Is a statement of balances after X
-‘i' preparing the P. & L.a/c. -‘i'
£, d- Dr. MEans —-=========mm oo .-
H e Cr. Means ——-meomeem e |
B f- Assets = Liabilities + --------mmmmrermmmmoomeemoo oo .M

4- The following balances are extracted from Ahmed Hamada
stores on 31/12/2008 ( Amounts in L.E.)

Stock ( at start ) 5000 — purchases 32000 — sales 54000 — returns in
300 —returns out 500 — purchases commissions 200 —bad debits 400 -
discount allowed 900 — discount received 670 — rent 2400 — rent
received 750 — salaries & wages 3000 — carriage out 100 —credit
interest 1000 — purchases allowances 580 — fire insurance 500 —
Stationery 200 — petty Expenses 300 — sundry Expenses 1400 —
Advertising 1000 *Additional data : Stock at end was vaﬂ_lu;ed_“at 80600.
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_é 1- Trading a/c. for the year ended 31st., Dec., 2007. j;
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Profit & loss a/c. for the year ended 31st., Dec., 2007.
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Exercise No (2) page Subject: Balance sheet
1- Translate the following into English:
English RS
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Bills receivable
Rent received
3- Make sentences from "™ A" and ' B " :
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g.g;g ] A ] ] B "

v

% |a- Trial Balance 1- Shows gross profit or gross loss.
Z b- Trading a/c. 2- Shows the financial position

e
&

c- Profit & Loss a/c | 3- Is a book showing the balances of accounting®
d- Balance sheet 4- Is a list of balances as they appear in the
ledger

5- Shows net profit or net loss

1- 2- 3- 4- 5- 6- 7-
4- The following balances are extracted from Ahmed Hamada
stores on 31/12/2008 ( Amounts in L.E.)
premises 25000 —furniture 4000 —cash3500 — bank 5800 —
bills receivable 2400 — bills payable 1600 — debtors 3600 —
creditors 3900 — drawings 1000 — capital 29800
e Additional data :
Stock at end was valued at 8000.

Profit and loss a/c (Net profit) 18000
**Required : ;
1- Balance sheet as at 31/12/2007. =
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Exercise No (3) page Subject: iinancial Statement

1- Translate Into Arabic:

(12N
> < %’!}

(12N
&)

English e

VL
> <

Fixed Assets

Liabilities

accrued expenses

JAl) daild

dlla (3 )

o
< v

3- Mark right (/) or false (X ) :
a- Fixed assets are assets that are held for resale to the customers.
b- The trading a/c prepared to show the gross profit or gross loss.
c- The profit & loss a/c prepared to show the net profit or net loss.
d- The balance sheet consists of assets, expenses and revenues.
e- The income statement which declares assets, liabilities and
owner's equity.
Question {5} [14 Marksl o0 y9av-\¥aglis

The following balances are extracted from the books of
Salam stores As at 31/12/2013: (Sumsin L.E.)

Debit balances:

Beginning inventory 6200 - Purchases 20500 - Salaries &
wages 1800 - General expenses 550 - Sundry expenses 250 -
Debit interest 450.

Credit balances :

Net sales 25000 - Purchases returns & Allowances 340 —
Purchases discount 160 - Rent Received 810 - coupons 560 -

Credit interest 380

Additional data : Ending inventory was valued at L.E 7000.
Make out:1- The income statement as at 31/12/2012. =~ _' /-
2- The profit and loss account. e X
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The income statement as at 31/12/2012 .

Net Sales
+ Net purchases
Cost of goods sold
Gross Profi
Net Income
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[[ Exercise No (4) page Subject: financial statement

1- Match the terms from " A" and "B " :

A

B

a- Net cost of purchases

ol (B gds )

b- Purchases discount

Olacdl e uas- .Y

c- Sales discount

Ol Sl gus 9 S1392 30 Y

d- Cost of goods sold

Dol AL Al s’ alo £

e- owner's equity

S AL e puas 0

f- sales returns & allowances

el e ladi alkead

a- b- C- d-
2- Complete the following:

a- Net sales = sales — ( -----------------------
b- Net cost of purchases = ( -----------=--------

— ( purchases discount + -----=--==--m-mnmmmemmmmmoeee ).
c- Gross profit = Net sales - ------------------ommme-- .

d- Net profit = ( ---------------- = = ) + oo

Question {5} Yoyt aghy

The following balances are extracted from the books of Mohamed
Stores asat 31/12/2015 (SumsinL.E.)

Debit balances:

Beginning inventory 8400 - Net purchases 38600 — sales

discount 500 — sales returns & allowances 1000 — Salaries &

wages 1200 — debit interest 800 - General expenses 1400 .

Credit balances:

Sales 70000 - Coupons 1200 — Credit interest 700 .
Additional data : Ending inventory was valued at L.E 5000

Make out:

1- The income statement as at 31/12/2015.

——

2- The owner's equity statement as at 31/12/2015 |f yowknow
Capital 80000 - Drawings 5000. '
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Exercise No (5) paae Subiect: financial statement ]]

> <

(12N
£

1- Translate the iollowing into Arabic:
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Inventory Adjustments
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S

financial statements

[

> <

net profit
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2- Make sentences from (A)and (B ) :

VL
R

(1) (B)

a- Income statement 1- shows assets liabilities and equity e
b- owner's equity 2- shows net profit or net loss o
c- financial position 3- shows sources and uses of funds Z
statement 4- shows ending capital at the end of the i
d- cash flows statement | year ‘;'
e- sales discount 5- shows discount received £
f- purchases discount | 6- shows discount allowed Z
a- b- - d- - f- 1

(12N
£

Question {4} Y- Y sl

The following balances are extracted from the books of El-kamel

stores after preparing the income on 31/12/2011: ( SumsinL.E.)
Debit balances:

Land and Buildings 20000 - Furniture 3000 - cars 35000 -
End inventory 28000 - Debtors 5000 - Bills receivable 8000 -

> <

(12N
&)

(12N
%’! > <

&> <

(12N
£

hand 7000.
Credit balances :
Capital 95000 - Loans 9000 - Creditors 7000 - Bills payable’

5000 - Net profit 15500.
Required : 1- The financial position statement as at 31!;2/2011
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I[ Exercise No (6) page Subject: financial statement
1- Translate into English:
English (=S
Baall JAS ¢y 958
<l ladi)
¢ Saad) Cilibea
dslal) 3 g8 daild
sl ghatl) Aaild

VL
> < &5

2- Compleie the following:
a- Liabilities = -------------mm oo - OwWner's equity
b- (Beginning capital + Net income) - ----------=-===----- =
ending capital
c- Cost of goods sold = (------------------- L e e )
— Ending inventory
Question {3} [16 Marks] 05 o2 Y+ € a5k
The following balances are extracted from the books of EI-Eman
stores asat31/12/2013: (Sumsin L.E.)
Debit balances:
Cost of goods sold 19200 - Wages 1800 — General expenses
1250 - Furniture 8000 - Cash 25000 - Bills Receivable 6000
— Debtors 4000 - Drawings 1750.
Credit balances :
Net sales 25000 - Coupons 1370 - Credit interest 1480 -
Creditors 4250 - Bills payable 5000 — Capital 40000
Additional data_: Ending inventory was valued at L.E 9000
Required :

1- The income statement as at 31/12/2013 SN 7

2- The financial position statement as at 31/12/2'_0'i3;'._'.‘., =

e NSRS
I S RN
) g
=AL* \
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Total of Liabilities

» |
Liabilities

Total Assets
Liabilities and owner's equity
owner's equity

- Total expenses
Net Income

- Cost of goods sold
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) |[ Exercise No (7) page  Subject: financial statement ]] )
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N 1- Translate into English: v
N English r %
'Z 3-:5: Jsl Ojj"ﬂ ’
é;, Financial position statement

z Distribuation statement

[

> < &)

2- Mark true (') or false ( x ) for each sentence:

1. Gross profit = Net sales — net purchases.

2. The income statement is a summary of the final accounts.

1 3. Income statement is a statement shows assets, liabilities and
owner's equity
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Question {3} [ 16 Marks]Y e agha

The following balances are extracted from the books of Misr
Transport Services as at 31/12/2014 ( Sumsin L.E.)
Debit balances:

| Salaries 17600 — Rent 4000 — Truck 50000 — Cash 28000 —
Bank 10000 — Bills receivable 5000 — Account receivable
7000 - Sundry expenses 5400.
Credit balances:

Service revenue 42000 - Bills payable 12000 - Account payable
8000 - Capital 65000.

Required: 1- The income statement as at 31/12/2014.
2- The financial position statement as at 31/12/2014

e
£

(12N
£

(12N
%’! > <

e
%’! > <

(12N
%’! > <

e
%’! > <

> <
> <

(T2
%”

> <
(12N
> < %’!

(T2
£

> <
(12N
> < %’!

(T2
£

(12N
£

> <
2N
.g!><

(
&
[

> <

> <

(T2
£

> <
(12N
> < %’!

(T2
£

(12N
£

> <

(T2
£

-

> <S> <

> <

e NSRS
I S RN
) g
=AL* \

260 daww e /1 . Gyl SILU! caald g welonat M1 ARULY L5 o) il 5ol sl 52 (1Y)

(T2
£

<




(2N (e O wrarw (e’ Owrwrw  Owrwrw e e O (2N (2N (2N (2N (2N (2N (2N (2N (2N (2N (2N (2N (2N (2N (2N
Y etttk i ket - EY T ERY - ERY O ERY Y R ERY R Y ERY B R ERY BT Y

)
(%)
wl
=
(%)
>
(a2]

Al (VA)

NS> <
ko)

<

({3
$39

3> <

services
The......................... Slatement as al Dec., 31,2014.

(3
=2

L !

services

The........................ Slatement as at Dec., 31, 2014

£
L4

({3
$39

“ .

(R
$y> <

3

p> <d

(3
=5
aa

[

P

(3
S59

()

=
&
-

Dy

(3
=5

0000000000000000000000000
-

[

P

(3
S59

Liabilities
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Total Assets
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Exercise No (8) page  Subject: financial Statement
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1- Translate into English:
English R

increasing of capital

credit interest

Cash flows statement
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B- Choose the right answer between brackets:

1- (Trial balance - Balance Sheet) shows the financial position.
2- (Cash flows- Financial position) statement shows the assets,
liabilities and owner's Equity.
3- (Trading a/c — Profit &Loss a/c) is a final account showing the
net profit or the net loss of a business.
4- (Income Statement- Cash flow Statement)shows sources and
uses of funds
5- Income statement shows (net income - ending capital).
Question 3 Y 52 Y)Y sl
The following balances are extracted from the books of El-
Nour stores as at 31/12/2011: (Sumsin L.E.)
Debit balances:
Net profit 9000 - increasing of capital 7000 - coupons 190
- Sales of furniture 4300 - Loans received 8000 - Sales of
securities 5000 - Collection of bills receivable 6000 - credit
Interest 3000.
Credit balances :
Wages & salaries 15000 - Rent 2400 - Advertising 3600 -
Purchases of investments 6000 - Debit interest 6200....
Balance of cash a/c at 1/1/2011 is L.E. 10000. == /
Required :Cash flows statement for the year ended 31/12%2&}11‘.—;‘
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| Exercise No (9) pace  Subiect: Travel Services
1- Give the English meaning ior :

English S

secretary

| ——
e

The health certificate

90> <

5

2- Flll In the spaces using the following words:

(Trip schedule — VVaccines — Valid — The secretary)
a- Before the boss leaves, the secretary must be sure that his
boss's passportisstill ........................ :
b- Trip schedule is mainly prepared by .............cooeie
Cm e, Indicates names, addresses, times and places that
the boss has to go to.
d- The health certificate is obtained after the boss receives the
Necessary ..........o.eeunne. .
Complete :
You are as a secretary, when your boss has to leave, you must
prepare:
2 of the country ( City ) to visit.
b-Alistof ... numbers & .................l Ll
of people needed on the trip.
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4- Form sentences from (A) & (B) g

(1) (B) !

1- The secretary is responsible for preparing |a-The boss's instructiony
2- While the boss is a way the secretary b-The trip schedulg-
should carry out g .., Ny

260 s e /) . (Gylnld) SO il A ek B ) AR 251 o) Sl ek s a0 (YY)



(2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2

Amﬂ’o RN <> <> P> <> N> > <> N> > <O >N >N > <> > > > @ > ><@) > <

) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ..s“w > A ]
9 o I o < Q s
o] V.
] — ;5 N S = Q o 5 i
= %) %) ] 1 %) 0
@ = N c < = s — c = < oV
= = =y —
@ = o - H q
af =2 2
= ~— 3
v Z = 3
A = k= ¥
38 v b 2
7 — O @ 3
to - o -
oy = — . 3
2 |5 e 3
UL
o q = o F s a
v -+ = ® c :
Lo e = D =
2 o 5 |3 = ;
M \h [~ (€D L ol ‘
AL = — h n . {
o = O — =] ol
< g | = 3 c
2 = = | 1o S o ® = ]
X Z2 3 i = < o . 3 5
A Bt o o = o = : : = : 3
ufe - AN A N m - . — - a
o — Ay LO
] = = © o o B o R - < : =
A 1 .o ~ o .= e ) > Q %) , |
mﬂio — o — o fev] (0®) . @\ . — . ﬁmw
o)) p— o~ C | (&) . ~~ . c . Y
N = > 0 LLI S - I A : <
= © Lo ! . . :
_— o ~—~ ()} <b] - (o)} . D .
= —) c N~ — e . — . — .
ﬂ. - - —| > + . . > .
B - = .. W. T P - < - < .
= “ e - d ] - ﬂ
1 S = - g g g ,
‘ o p— - - .
e Z E S 3 0O < : 35 Ao
wo M ~E) _I_I S 1 1 1 1 1 T 1 1 1
& —




(12N
(S

> <

(12N
£

> <

(12N
£

> <

(12N
£

> <

(12N
£

> <

(12N
£

> <

(12N
£

> <

(12N
£

> <

e
&

e
%’! > <

> <

e
£

> <

e
£

> <

e
£

> <

e
£

> <

e
£

> <

e
£

> <

(T2
£

> <

(T2
&

(T2
%’! > <

> <

(T2
£

> <

(T2
£

> <

(T2
£

> <

(T2
£

> <

(T2
£

<

&5
&> <

&5
&> <

Aylanid) ded) 52 i) 8> <8y> <8p> <B> <> <

&
> <88p> <

BUSINESS

Exercise No (10) page Subject: Travel Services

1- Translate into Arabic :
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Take part
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Travel Department
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Arrangements
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currency required

Y
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A map
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2- Choose the correct words from brackets :

a) The trip schedule is prepared by the ( boss — secretary )
b) A health certificate is ( important — un important )

¢) You should book a hotel ( nearly — faraway ) the place of
business.

3~ Rearrange the following statements:

a) Duties of the secretary before the boss leaves.

b) Duties of the secretary after the boss returns back

c¢) Duties of the secretary while the boss is a way .

4- Form sentences from (1) & (B)
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(1) (B)
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1-Before your boss leaves | a- according to the limits of your
2-While your boss is a way |authority.

3-When your boss comes b- offer him the new matters appeared.

5 5
b > < Lob s> <

g g
B> <S> <S> <
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£

back c- you must follow his instructions.
4-While your boss absence |d- cancel or rearrange his
5-Treat with mail of the appointments.
office e- necessary arrangements must be
prepared
1 2 3 4 5 “1\. S

o
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\ Exercise No (11) page  Subjeci: Report Writing
1- Write the following in English:

English e
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2- Complete the iollowing statements :
a) A report IS ----------===mmmmm e :
b) A report must be ---------------- mmmmmmmmmmmmmmmmmee jmmmmmmmmmmmmmmnee
and logically arranged
Cc) The -------------mmm-- should be able to prepare a report of
meeting, a --------------- ,an interviewer or even on a -------------- :
d) The writer of a report should a void using unimportant --------- :
>- Make good sentences from " A" & "B ".

G "g "
a- A report of an individual |- Should be written wholly ( in the
b- A report of an event or a |third person)
document - Should be a narrative written ( in the
c- A report of a meeting first person )
- Should be in the past tense
3- Your employer is a buyer of clothes ior a chain store and asked you
to attend on his behalf, an exhibition of clothes. You are asked
to write a report of the exhibition. Your employer chiefly
wants to know your opinion "on what average woman wants
and what she is likely to buy in his stares called star'Cg;,l J
London" e

.
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Exercise No (12) page Subject: Report Writing

1- Translate the iollowing into Arabic:

English i

Adapted

financial statements

affairs

involved

> < 8 >
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confidential report

N> <
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2- Flll In the spaces using the following words helow:
(pleasing — signed — presented — heading — title — paragraphed
— recommendations — date. )

a) Every report must bear --------------------- on which it was
written .

b) The report should be short but clear, ------------==-==nmmmmmmeuv
and ------------mmmmmmee o .

c) A report generally makes some ------------------- which are
written at the end.

d) The report should be ----------------- that must be numbered.
e) A report must be ----------------- by the person entitled for it.

f) The general appearance of the report should be -------------- :
4- Write a report for your office manager of a visit to an office
Machinery Exhibition held in your town.

- Make recommendations for the acquisition of new machine for your
office.
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From : Saturday 7 " Dec., 2013 To : Monday 9 ™ Dec., 2013

Saturday 7 ® Dec., 2013

- Departure from ....... airport .......
- Arrival ......... Airport

- Check in Hilton Hotel ..............
Sunday 81 Dec., 2013

- Attend the international Exhibition
- Lunch at the restaurant ...........

Monday 9 © Dec.. 2013

-. Leave Hilton Hotel
- Departure from ........ air port ..

- Arrival ......... Airport
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